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(Please read cach of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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3.

FaE ¥ IM-ARF Fa aF Fonliw dn anfds &3 § afm siedE =) aitea S

(IM 150 T=E1 | i)
Underline the changes in the field of society and economy from the Rig Vedic to the
later Vedic period. (Answer in 150 words)

Zim wa § wen 3 wiftw % frem A W F @d ¥ dem @ g fifg
(IM 150 W= | )

Estimate the contribution of Pallavas of Kanchi for the development of art and
literature of South India. (Answer in 150 words)

7R vz 4 ek wo v 9 aide gE gen? W uioml @ we At
(IM 150 7= | dif)

What were the events that led to the Quit India Movement? Point out its results.
(Answer in 150 words)

A woe & e A gfe w0 27w swmiddn wEamt F G W R oakm s 27

o {3_?111?9 W= A 4ifm)
What is sea surface temperature rise? How does i;;aﬂcct?tl}(%‘ !'tqg_a_-\_p-}a“iibjn of tropical
cyclones? ‘\l} ﬂ})kgi.{aésmvcr in 150 words)
| h EA
v el 1 g 7 et e A s w0 8 R A Rl
mﬁmﬁﬁmﬁﬁqk\;bb .;) (3 150 W= & difi)

o o - . . .
Why do large Cities tend lo attract more migrants than smaller towns? Discuss in

the light SLdgﬁdifiuns-in developing countries. (Answer in 150 words)
awa w23 A ufeaen wn {7 smen fifg (IW 150 w==1 7 4ifm)
What is the phenomenon of ‘cloudbursts™? Explain. (Answer in 150 words)

mai@:ﬁqxﬂa{%ﬁmlﬁﬁaﬁm)'tﬁmmmt?wmgﬁmmmaﬁ#ﬂm%?
fawm | =amgu) (I 150 W= difsm)
What is the concept of a ‘demographic winter? Is the world moving towards such a
situation? Elaborate. (Answer in 150 words)

f—'rﬁﬁ:zmﬁm éﬁmftwmt{dqﬁmmﬁﬁm%?ﬂa I F we A FeiE A i i
T} AE wET e e w6 o 8 (3 150 w=Ei & i)
Distinguish between gender equality, gender equity and

Why is it important to take gender con
implementation?

women's empowerment.
cerns into account in programme design and

(Answer in 150 words)
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9. WM wfsE-anfds va Al sl F F e far 7 w© T 93 §, feg smnfifs R
Far # 7g w0 ww ) Fd=m A (IM 150 =1 3 dfim)

Intercaste marriages between castes which have socio-economic parity have
increased, to some extent, but this is less true of interreligious marriages. Discuss.

(Answer in 150 words) 10

10. fawm % wnfies-anfids 181 A Ped #§ g, R-aed @ @ el 6 % 4m fee T
qEam waifus gaeft fm? (IW 150 7=1 | difim)

In dealing with socio-economic issues of development, what kind of collaboration
between government, NGOs and private sector would be most productive?

(Answer in 150 words) 10

11, “palfs weR G s ool deg T § afm s w3 awgwen % A e e ¥
w0 3pfl oft g T A ar e s R0 Ruofl D (IW 250 W= # i)

“Though the great Cholas are no more yet their name is still remembered with great
pride because of their highest achievements in the domain of art and architecture.”

Comment, (Answer in 250 words) 15

" a Al
12, 7 wgN Fel o @ R v R e :uﬁn-agmahmzmﬂ@aM‘@stm?
(\\\W“i\\%ﬁ:\)}})fm 250 1= # iftm)
How far is it correct to say that the ﬁrﬁt,Wo’ftd War was fought essentially for the
preservation of balance of P‘-"ch%?\g'i@é\\_‘)\‘:) (Answer in 250 words) 15

MA@\,
13. wﬁmﬁmﬂﬁhw@@%%h#&ﬁﬁﬁﬁmmﬁﬂmmm

) WA=
O L (3 250 7= # D)

How far was-the Industrial Revolution in England responsible for the decline of
handicrafts and cottage industries in India? (Answer in 250 words) 15

14. T urd) ) sEre s 3 it Pz o @ ¥ aw e D aw-gen B R e woaEd 3
(IM 250 1= A i)

The groundwater potential of the gangetic valley is on a serious decline. How may it
affect the food security of India? (Answer in 250 words) 15

15. 3t sigfm si st Dfeofem w0 7 3 52 9w 0 &8 (IW 250 7= § Afim)

What are aurora australis and aurora borealis? How are these triggered?
(Answer in 250 words) 15

16. fw wn ¥7 AT N W) & srwwm F A A wfewm P i 3o w8
(IM 250 w=Et # i)

What is a twister? Why are the majority of twisters observed in areas around the
Gulf of Mexico? (Answer in 250 words) 15
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17. ﬁmmw%?ﬂﬁﬁmﬁmmﬁa%?wﬁmmmmﬁmﬁﬁ%?
(IM 250 =21 | Aifw)

What is regional disparity? How does it differ from diversity? How serious is the

issue of regional disparity in India? (Answer in 250 words) 15
18. wamm 3wl =mg A s At % awer, ool 9 dfia il @ dfaum 7o i
qENTERE wHar w1 g0 o T8 e w0 Reof Dt (I 250 =t A i)

Despite comprehensive policies for equity and social justice, underprivileged
sections are not yet getting the full benefits of affirmative action envisaged by the

Constitution. Comment. (Answer in 250 words) 15
19. A A fafim @il A gem, g @ afaia afeesi oo wed vam 3 9fs H 2w owh 3
I =afer =eaa v gfEn % wa dadl wown g gen 27 (3m 250 n=E 1 )

Globalization has increased urban migration by skilled, young, unmarried women
from various classes. How has this trend impacted upon their personal freedom and

relationship with family? (Answer in 250 words) 15
20. W shpm ® wAwEeE faean fifie & oara B owepfer fR[fun sie aonfis-anfds
Hhramad % da uw men wewEy R) (IM 250 = 1§ i)
Critically analyse the proposition that there is a high corrclatmn\bch{ccn India’s
cultural diversities and socio-economic margmulmca C(nnsw,jp 250 words) 15

et
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